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Two numbers, x and y, have a sum of 53 and a difference of 11.

a).  Write two equations in x and y.

b).  Solve them to find the values of x and y.

Two numbers, p and g, have a sum of 45 and a difference of 19.

a).  Write two equations in p and q.

b).  Solve them to find the values of p and q.

John and Andrew have £3.40 between them. John has £1.20 more than Andrew.
John has £u and Andrew £v.

a).  Write two equations in u and v.

b). Solve them to find the values of u and v.
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Tessa had £1.00 for snacks. In the school canteen 2 cherry buns and 3 doughnuts
cost £1.20. However 4 cherry buns and 1 doughnut cost exactly £1.00.

a).  Write two equations.

b).  Solve them to find the cost of a cherry bun and the cost of a doughnut.

Four pigs and three sheep cost a farmer £620. Another farmer pay £630 for

three pigs and five sheep.

a).  Write two equations.

b).  Solve them to find the cost of a pig and the cost of a sheep.

In a toy box there are blue and green bricks only. Find the weight of each type of
brick if 9 blue bricks and 6 green bricks weigh 324 g and 5 blue bricks and

4 green bricks weigh 200 g.

John says “I’'m thinking of 2 different numbers. When I double the first and add it to
the second the total is thirteen. When I double the second and take it away from the
first I get minus one.” What are the two numbers ?

Bill sold 75 tickets for a gig. He sold x £5 tickets and y £8 tickets. He collected £444.
How many of each type of ticket did he sell ?
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Three cups and four mugs cost £10.20, whilst two cups and five mugs cost £9.60.
Find the price of a cup and the price of a mug.

Ben thinks of two numbers. When he doubles the first and adds treble the second
number to it he gets 5. When he trebles the first number and takes away double the
second number he gets 14. What are the two numbers ?

The sum of Ann and Fred’s ages is 28. In seven years time Ann will be twice as old
as Fred. How old are they now ?

In a basketball match between the Saints and the Tigers, the Saints won by 21 points.
Altogether 125 points were scored. What was the final score ?

On holiday Lisa finds that the cost of two boat trips and five ice creams would be
£12.90 and the cost of three boat trips and four ice creams would be £16.20.

How much would two boat trips and nine ice creams cost Lisa ?

On a bus trip the fare for 5 adults and 8 children was £17.80.

The fare for 6 adults and 5 children was £16.30 for the same journey.

If a similar trip is made by 4 adults and 7 children what would the cost be ?




